E = B 5 & E2 E % &= B & #
AL REAEL REK AL REAEL REEK
SFI6E | HAMGE | R | HF6FE | HASE | MEEL | HH6F | HFSE | | HMEFE | HISFE | ER | HM6E | HMEFE | EE | HH6E | HMSE | A

B T # 52 54 -2 51 49 2 98.1 90.7 7.4 231 250 -19 148 101 47 64.1 40.4 23.7
[z th bl 22 22 20 22 -2 90.9 100.0 -9.1 95 98 -3 66 54 12 69.5 55.1 14.4

ERCE RS 9 12 -3 8 11 -3 88.9 91.7 -2.8 44 41 3 36 22 14 81.8 53.7 28.1

YL HK 6 2 4 5 2 3 83.3 100.0 -16.7 11 12 -1 8 13 -5 2.7 108.3 -35.6

)b EK 1 -1 2 -2 - 200.0 -200.0 10 6 4 6 2 4 60.0 333 26.7

YHLEK 7 7 7 7 100.0 100.0 30 39 -9 16 17 -1 53.3 43.6 9.7
B # L 11 11 11 9 2 100.0 81.8 18.2 56 83 =27 34 22 12 60.7 26.5 34.2
= th bl 3 2 1 2 2 66.7 100.0 -33.3 8 9 -1 6 4 2 75.0 44.4 30.6
= % bl 1 1 2 2 200.0 - 200.0 2 3 -1 4 200.0 200.0
kv fiE) Ll 2 1 1 3 1 2 150.0 100.0 50.0 12 10 6 4 50.0 40.0 10.0
#* = L 1 1 1 100.0 - 100.0 5 2 3 3 -3 150.0 -150.0
8 #t w - - 4 6 -2 3 2 1 75.0 33.3 41.7
= 2 L - - 2 6 -4 5 -5 83.3 -83.3
# ) w - - 2 5 -3 2 1 1 100.0 20.0 80.0
& A L 1 2 -1 1 1 100.0 100.0 6 3 3 9 150.0 150.0
SR ) 1 3 -2 1 2 -1 100.0 66.7 33.3 9 4 5 2 22.2 22.2
U z L 1 -1 1 -1 - 100.0 -100.0 3 3 1 1 33.3 33.3
=1 BE bl 3 1 2 3 1 2 100.0 100.0 2 2 1 2 -1 50.0 100.0 -50.0
=S 1E L 1 1 1 100.0 - 100.0 2 1 1 1 -1 100.0 -100.0
= = bl 1 2 -1 1 2 -1 100.0 100.0 12 5 7 5 5 41.7 41.7
AR A S AT 1 1 1 1 100.0 - 100.0 1 -1 1 -1 - 100.0 -100.0
WERME S AT 3 -3 3 -3 - 100.0 -100.0 1 1
% H AR 2 E ET 4 -4 4 -4 - 100.0 -100.0 1 1 -
/)N BB & B HY 1 -1 1 -1 - 100.0 -100.0 1 1 5 1 4 500.0 100.0 400.0
B RE R E N - - - -
& M AR 37 2F A7 1 1 1 1 100.0 - 100.0 1 2 -1
f5 FB AR B o8 T - - 2 -2 1 -1 - 50.0 -50.0
F5 H AR % & AT - - 1 1 1 1 100.0 - 100.0
EHEAFAERN - - - -
AKEBAKFIHT - - 1 -1 -
A K BB 3 K HT - - 1 1 2 2 200.0 200.0
PNEER & i o R AT 1 1 1 1 100.0 100.0 2 1 1 1 1 50.0 50.0
B\ RAE 2 2 2 2 100.0 - 100.0 3 3 -




